Tie – Dying

Older or cheaper dies are not that polar and therefore run more than reactive dyes.  These types of dyes act a lot like a stain.

The Problem with using non – reactive dye is that these will run the first time they are washed and the colors will fade quickly.

The shirts have been soaking in a sodium carbonate solution and you will be using reactive dyes.  
So, when you dye your shirts the dye will bond with the sodium carbonate and with the cotton that your shirts are made of.

What are some advantages of using reactive dyes as apposed to non – reactive dyes?
